# Quote # TWX005071 v.3 for Erie County Land Bank



**ECLB** new computers

Prepared by: TechWorx Sales Wednesday, May 22, 2024

(814) 806-3228 |



### Hardware Admins

Description		Price	Qty	Ext. Price
Microsoft Surface Pro 9 Tablet - 13" - Core i7 12th Gen i7-1265U Deca-core (10 Core) - 16 GB RAM - 512 GB SSD - Windows 11 Pro 64-bit - Platinum - 2880 x 1920 - PixelSense Display - 15.50 Hours Maximum Battery Run Time		\$1,732.61	1	\$1,732.61
Microsoft Surface Pro Signature Keyboard - Black - Docking Connectivity - English - QWERTY Layout - Tablet - TouchPad - Mechanical Keyswitch - Black		\$151.44	1	\$151.44
Acer Vero B7 B247Y E Full HD LCD Monitor - 16:9 - Black - 23.8" Viewable - In- plane Switching (IPS) Technology - LED Backlight - 1920 x 1080 - 16.7 Million Colors - FreeSync (DisplayPort VRR) - 250 Nit - 4 ms - 100 Hz Refresh Rate - HDMI - VGA - DisplayPo		\$150.54	2	\$301.08
Asus ZenScreen MB16ACV 16" Class LCD Monitor - 16:9 - Silver15.6" Viewable - In-plane Switching (IPS) Technology - LED Backlight - 1920 x 1080 - 250 Nit Typical - 5 msGTG - 75 Hz Refresh Rate	POINT POINT	\$221.67	1	\$221.67
Microsoft Surface Dock 2 - for Notebook/Desktop PC/Smartphone/Monitor/Keyboard/Mouse - 199 W - 6 x USB Ports - USB Type C - Network (RJ-45) - Wired		\$218.76	1	\$218.76
Monoprice Select Series USB-C to DisplayPort Adapter		\$19.54	2	\$39.08
Logitech MK540 Advanced Wireless Keyboard and Mouse Combo for Windows, 2.4 GHz Unifying USB-Receiver, Multimedia Hotkeys, 3-Year Battery Life, for PC, Laptop - USB Wireless RF Keyboard - Black - USB Wireless RF Mouse - Optical - 1000 dpi - 3 Button - Scro		\$47.43	1	\$47.43
		S	ubtotal:	\$2,712.07

## Hardware Interns

Description		Price	Qty	Ext. Price
QIY-00001	Microsoft Surface Pro 9 Tablet - 13" - Core i7 12th Gen i7-1265U Deca- core (10 Core) - 16 GB RAM - 512 GB SSD - Windows 11 Pro 64-bit - Platinum2880 x 1920 - PixelSense Display - 15.50 Hours Maximum Battery Run Time	\$1,732.61	2	\$3,465.22
8XB-00001	Microsoft Surface Pro Signature Keyboard - Black - Docking Connectivity - English - QWERTY Layout - Tablet - TouchPad - Mechanical Keyswitch - Black	\$151.44	2	\$302.88



### Hardware Interns

Description		Price	Qty	Ext. Price
UM.QB7AA.E01	Acer Vero B7 B247Y E Full HD LCD Monitor - 16:9 - Black - 23.8" Viewable - In-plane Switching (IPS) Technology - LED Backlight - 1920 x 1080 - 16.7 Million Colors - FreeSync (DisplayPort VRR) - 250 Nit - 4 ms - 100 Hz Refresh Rate - HDMI - VGA - DisplayPo	\$150.54	2	\$301.08
1GK-00001	Microsoft Surface Dock 2 - for Notebook/Desktop PC/Smartphone/Monitor/Keyboard/Mouse - 199 W - 6 x USB Ports - USB Type-C - Network (RJ-45) - Wired	\$218.76	1	\$218.76
MISC- HARDWARE	Monoprice Select Series USB-C to DisplayPort Adapter Miscellaneous Hardware	\$19.54	2	\$39.08
920-008671	Logitech MK540 Advanced Wireless Keyboard and Mouse Combo for Windows, 2.4 GHz Unifying USB-Receiver, Multimedia Hotkeys, 3-Year Battery Life, for PC, Laptop - USB Wireless RF Keyboard - Black - USB Wireless RF Mouse - Optical - 1000 dpi - 3 Button - Scro	\$47.43	1	\$47.43
		S	ubtotal:	\$4,374.45



# ECLB new computers

#### **Prepared by:**

- TechWorx, LLC
- TechWorx Sales (814) 806-3228 sales@techworx.io

#### **Prepared for:**

#### **Erie County Land Bank**

1230 Townhall Rd Erie, PA 16509 Christie Mahany (814) 580-8990 christie@eriecountylandbank.org

#### **Quote Information:**

#### Quote #: TWX005071

Version: 3 Delivery Date: 05/22/2024 Expiration Date: 05/31/2024

### Quote Summary

Description	Amount
Hardware Admins	\$2,712.07
Hardware Interns	\$4,374.45
Subtotal:	\$7,086.52
Estimated Tax:	\$425.19
Total:	\$7,511.71

Note: State and federal taxes if applicable, are not included; If your firm is tax exempt, you must attach a copy of your tax exemption certificate to this agreement.

#### Standard terms:

Unlimited Remote Support and/or Monitoring Only contracts are a two-year commitment and contracts automatically renew every year thereafter, unless a new contract is written or client gives thirty (30) days written notice of cancelation. Monitoring Only agreements can be upgraded to Unlimited Remote Support agreements at any time. It is possible to have more users than devices or more devices than users, number of users will be confirmed and billed monthly. Software and hardware subscription service contracts, e.g. Office 365, firewall, antivirus, offsite backup, etc., are a minimum two-year commitment and are mandated by the manufacturer and will automatically renew every year unless a new contract is written, or unless different terms are stated and agreed upon within the above contact. Returns: Upon confirmation that the manufacturer will return the unwanted hardware, in the original packaging, there will be a minimum restocking fee of 15% and a credit will be added to your account when the manufacturer credits TechWorx. Returns not in the original packaging will not be accepted.

Hardware will be invoiced upon arrival to TechWorx

Shipping is not included and will be invoiced upon arrival.



# TechWorx, LLC

# Erie County Land Bank

Signature:		Signature:	Mit Many
Name:	TechWorx Sales	Name:	Christie Mahany
Title:	Accounting Manager	Initials:	Cm
Date:	05/22/2024	Date:	5/22/2024 4:51:06 PM
		IP Address:	104.28.55.77
		Email Address:	christie@eriecountylandbank.org

PO Number:



#### **Terms & Conditions**

# TechWorx Master Service Agreement

Approval of this quote acts as acknowledgement and acceptance of TechWorx Terms & Conditions, current and future amendments can be found at: <u>https://www.techworx.io/terms-of-service</u>

If a Master Service Agreement executed by and between TechWorx and Customer exists for any Services, by signing and executing this Quote, the Customer acknowledges and agrees that the terms of the Existing Agreement will be amended and replaced by the TechWorx Terms and Conditions.